If the belt in the pulley system below travels 30 cm, what is the angle of rotation of the smaller pulley?

[A] g radians [B] 20°

Nibbles the hamster is running at 0.02 m/s on an exercise wheel of radius § cm. What is the an; ?
[A]0.15 inute [B]240 rad/minute [C]0.25 rad/minute [D]15 radians/minute
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Solve: 2(1-sin @) +sin@=2(3—4sin* §), —360° < 6 < 720°
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| Little Johnnv has a rock tied to the end of a piece of rope 1.5 m long and he is swinging it around his head in a circular pattem.
Mrs. Centripetal, his phvsics teacher, is watching Johnnv out the window of her phvsics lab and notes that therock is making
12 revolutions everv 48 seconds.
(a) Determine the angular velocity with which little Johnny is twirling the rope above his head. [2]
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(b) The rock comes flying from the rope 3 minutes after Mrs. Centripetal started to time little Johnny. How far did the rock travel
during the 3 minutes? [2]
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1. Without using a caleulator, evaluate the following: {Must include sketches) 2]
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cosd = 2cos” 0,
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